EXACT SEQUENCES IN HOMOLOGY OF MULTIPLICATIVE LIE RINGS AND A NEW VERSION OF STALLINGS' THEOREM

G. DONADZE¹, N. INASSARIDZE², M. LADRA³, A. M. VIEITES⁴

¹Indian Institute of Science, Education and Research Thiruvananthapuram, 695016 Thiruvananthapuram, Kerala, India, gdonad@gmail.com

 ²A. Razmadze Mathematical Institute of Tbilisi State University, Tamarashvili Str.
 6, 0177 Tbilisi; Georgian Technical University, Kostava Str. 77, 0175 Tbilisi; Tbilisi Centre for Mathematical Sciences, Georgia, niko.inas@gmail.com

³Department of Matemáticas, University of Santiago de Compostela, 15782 Santiago de Compostela, Spain, manuel.ladra@usc.es

⁴Department of Computation, University of A Coruña, 15071 A Coruña, Spain, ana.vieites@udc.es

ABSTRACT. We show that the non-abelian tensor product of nilpotent, solvable and Engel multiplicative Lie rings is nilpotent, solvable and Engel, respectively. The six term exact sequence in homology of multiplicative Lie rings is obtained. We also prove a new version of Stallings' theorem.

1. INTRODUCTION

Multiplicative Lie rings were introduced by Ellis in [12] (see also [1]). This concept generalizes that of groups and Lie rings. Ellis used this structure to investigate an interesting combinatorial problem on group commutators (see also [8]). In [16] Point and Wantiez studied algebraic structural properties of multiplicative Lie rings. In particular, they defined nilpotency and solvability of multiplicative Lie rings and generalized the well-known results for groups and Lie algebras to multiplicative Lie rings. In [1] we investigated further structural properties of multiplicative Lie rings. We introduced two homology theories and studied their relationships to the Eilenberg-MacLane homology of groups and the Chevalley-Eilenberg homology of Lie rings. In the recent paper [7] we introduced a notion of non-abelian tensor product of multiplicative Lie rings and showed that our definition recovers the notions of non-abelian tensor products of groups defined by Brown-Loday [2] and that of Lie rings defined by Ellis [11].

In the present manuscript we are motivated by the desire to establish a unified theory of the non-abelian tensor product and low-dimensional homologies which simultaneously generalizes that for groups and that for Lie rings. With this aim we generalize the results of [10, 17, 19] to multiplicative Lie rings. In particular, we prove

²⁰¹⁰ Mathematics Subject Classification. 18G10, 18G50.

Key words and phrases. multiplicative Lie rings, non-abelian tensor and exterior products, homology.

that the non-abelian tensor product of nilpotent, solvable and Engel multiplicative Lie rings is nilpotent, solvable and Engel, respectively (see Proposition 3.5 and Proposition 3.8). Using the technique of the non-abelian tensor product we also get the exact sequences relating the homology groups of multiplicative Lie rings in lower dimensions (see Proposition 4.1). As a result we have a combined proof of the six term homology exact sequences for groups and Lie rings. At the end of this article we prove a new version of Stallings' theorem [13, VI. Theorem 9.1] (see Theorem 5.6).

2. Multiplicative Lie Rings, homology and non-abelian tensor product

For any group G and elements $x, y \in G$, let $xy = xyx^{-1}$ and $[x, y] = xyx^{-1}y^{-1}$.

A multiplicative Lie ring consist of a multiplicative (possibly non-abelian) group \mathfrak{g} together with a binary function $\{,\}: \mathfrak{g} \times \mathfrak{g} \to \mathfrak{g}$, which we shall call Lie product, satisfying the following identities:

$$\{x, x\} = 1, \tag{2.1}$$

$$\{x, yy'\} = \{x, y\} \ {}^{y}\{x, y'\}, \tag{2.2}$$

$$\{xx', y\} = {}^{x}\{x', y\}\{x, y\},$$
(2.3)

$$\{\{x, y\}, {}^{y}z\}\{\{y, z\}, {}^{z}x\}\{\{z, x\}, {}^{x}y\} = 1,$$
(2.4)

$${}^{z}\{x,y\} = \{{}^{z}x,{}^{z}y\}$$
(2.5)

for all $x, x', y, y', z \in \mathfrak{g}$.

Examples 2.1.

- (a) Any group G can also be given the structure of a multiplicative Lie ring by defining $\{x, y\} = 1$ for all $x, y \in G$. It is called the abelian multiplicative Lie ring of G and is sometimes denoted by G_{\bullet} .
- (b) Any group G is a multiplicative Lie ring under $\{x, y\} = xyx^{-1}y^{-1}$ for all $x, y \in G$. It is denoted by $G_{[,]}$.
- (c) Any Lie ring g is a multiplicative Lie ring under $\{x, y\}$ the Lie product for all $x, y \in g$. Moreover, if \mathfrak{g} is a multiplicative Lie ring whose underlying group is abelian then \mathfrak{g} is an ordinary Lie ring.
- (d) Given a ring R with identity, there is defined the Steinberg multiplicative Lie ring $St^{mlr}(R)$ by $St^{mlr}(R) = \varinjlim_{n} St_{n}^{mlr}(R)$, $n \ge 3$, where $St_{n}^{mlr}(R)$ is the multiplicative Lie ring defined by generators $x_{ij}(s)$, $s \in R$, $1 \le i \ne j \le n$,

subject to the relations $x_{ij}(s) + x_{ij}(t) = x_{ij}(s+t),$ (()) = 1

$$\{x_{ij}(s), x_{kl}(t)\} = 1, \qquad \text{if } i \neq l, j \neq k, \\ \{x_{ij}(s), x_{kl}(t)\} = x_{il}(st), \qquad \text{if } i \neq l, j = k.$$

A morphism $\phi: \mathfrak{g} \to \mathfrak{g}'$ of multiplicative Lie rings is a group homomorphism such that $\phi\{x, y\} = \{\phi x, \phi y\}$ for all $x, y \in \mathfrak{g}$. Denote the category of multiplicative Lie rings by \mathcal{LM} .

A subgroup \mathfrak{n} of a multiplicative Lie ring \mathfrak{g} will be a *subring* of \mathfrak{g} if $\{x, y\} \in \mathfrak{n}$ for all $x, y \in \mathfrak{n}$. It will be an *ideal* of \mathfrak{g} if it is a normal subgroup and if $\{x, y\} \in \mathfrak{n}$ for all $x \in \mathfrak{n}$ and $y \in \mathfrak{g}$.

A multiplicative Lie ring \mathfrak{g} is called *perfect* if $\mathfrak{g} = {\mathfrak{g}, \mathfrak{g}}$.

2.2. Homology theories of multiplicative Lie rings. Now we briefly recall the construction of two homology theories of multiplicative Lie rings studied in [1].

Let Sets denote the category of sets and \mathfrak{Gr} denote the category of groups. Let $\mathcal{U}: \mathcal{LM} \to Sets$ and $\mathcal{V}: \mathcal{LM} \to \mathfrak{Gr}$ be the natural forgetful functors. The functors \mathcal{U} and \mathcal{V} admit left adjoints $\mathfrak{F}: Sets \to \mathcal{LM}$ and $\mathfrak{L}: \mathfrak{Gr} \to \mathcal{LM}$, respectively (see [1] for detailed description of \mathfrak{F} and \mathfrak{L}). It is well known that every adjoint pair of functors induces a cotriple (see, for example, [14, Chapter 2]). Let $(\mathfrak{FU}, \tau, \delta)$ (resp. $(\mathfrak{LV}, \tau', \delta')$) denote the cotriple in \mathcal{LM} defined by the adjoint pair $(\mathfrak{F}, \mathcal{U})$ (resp. $(\mathfrak{LV}, \tau', \delta')$). Let \mathcal{P} and \mathcal{Q} denote the projective classes in the category \mathcal{LM} induced by the cotriples $(\mathfrak{FU}, \tau, \delta)$ and $(\mathfrak{LV}, \tau', \delta')$, respectively. It is easy to see that the category \mathcal{LM} has finite limits. This implies, cf. [14, Chapter 2], the existence of non-abelian left derived functors $\mathcal{L}_n^{\mathcal{P}}\mathfrak{Ab}: \mathcal{LM} \to \mathfrak{Gr}, n \geq 0$, and $\mathcal{L}_n^{\mathcal{Q}}\mathfrak{Ab}: \mathcal{LM} \to \mathfrak{Gr}, n \geq 0$, of the abelianization functor $\mathfrak{Ab}: \mathcal{LM} \to \mathfrak{Gr}, \mathfrak{g} \mapsto \mathfrak{Ab}(\mathfrak{g}) = \frac{\mathfrak{g}}{\mathfrak{g},\mathfrak{g}}$, relative to the projective classes \mathcal{P} and \mathcal{Q} , respectively. It is known (see again [14, Chapter 2]) that the derived functors relative to the projective class induced by a cotriple are isomorphic to the derived functors relative to this cotriple.

Let \mathfrak{g} denote a multiplicative Lie ring and $n \geq 1$. Define the *n*-th strong homology group of \mathfrak{g} by

$$HS_n^{mlr}(\mathfrak{g}) = \mathcal{L}_{n-1}^{\mathcal{P}}\mathfrak{Ab}(\mathfrak{g}).$$

Define the *n*-th weak homology group of \mathfrak{g} by

$$HW_n^{mlr}(\mathfrak{g}) = \mathcal{L}_{n-1}^{\mathcal{Q}}\mathfrak{Ab}(\mathfrak{g}).$$

It is easy to check that \mathfrak{Ab} is a right exact functor. Hence by [14],

$$HS_1^{mlr}(\mathfrak{g}) = \mathcal{L}_0^{\mathcal{P}}\mathfrak{Ab}(\mathfrak{g}) \cong \mathfrak{Ab}(\mathfrak{g}) = \frac{\mathfrak{g}}{\{\mathfrak{g},\mathfrak{g}\}} \cong \mathcal{L}_0^{\mathcal{Q}}\mathfrak{Ab}(\mathfrak{g}) = HW_1^{mlr}(\mathfrak{g}).$$

Moreover, we have the following theorem (see [1, Theorem 3.6]).

Theorem 2.3 ([1]). For any multiplicative Lie ring \mathfrak{g} there is a natural isomorphism of groups

$$HS_2^{mlr}(\mathfrak{g}) \cong HW_2^{mlr}(\mathfrak{g}).$$

In general HS_n^{mlr} and HW_n^{mlr} are different for $n \ge 3$ (see [1]).

2.4. Action of multiplicative Lie rings. Let \mathfrak{g} and \mathfrak{h} be two multiplicative Lie rings. By an action of \mathfrak{g} on \mathfrak{h} we mean an underlying group action of \mathfrak{g} on \mathfrak{h} , given by a group homomorphism $\Phi: \mathfrak{g} \to \operatorname{Aut} \mathfrak{h}$, together with a map $\mathfrak{g} \times \mathfrak{h} \to \mathfrak{h}$, $(x, y) \mapsto \langle x, y \rangle$, satisfying the following conditions:

where $x, x' \in \mathfrak{g}, y, y' \in \mathfrak{h}, xy = \Phi(x)(y), xx' = xx'x^{-1}, yy' = yy'y^{-1}$.

Now we give natural examples of actions of multiplicative Lie rings.

Examples 2.5.

- (a) Let \mathfrak{g} and \mathfrak{h} be two ideals in a multiplicative Lie ring. Then the action of underlying group $\mathcal{V}(\mathfrak{g})$ on $\mathcal{V}(\mathfrak{h})$ defined by conjugation together with Lie multiplication is an action of multiplicative Lie ring \mathfrak{g} on \mathfrak{h} .
- (b) Let G and H be two groups. Any group action of G on H with trivial angle bracket gives an action of the multiplicative Lie ring G_{\bullet} on H_{\bullet} .
- (c) Let G and H be groups again. Any group action of G on H with angle bracket defined by $\langle g, h \rangle = {}^{g}hh^{-1}$, for all $g \in G$ and $h \in H$, is an action of the multiplicative Lie ring $G_{[,]}$ on $H_{[,]}$.
- (d) Any Lie ring L acts on other Lie ring M via trivial group action and Lie ring action.

Let \mathfrak{g} and \mathfrak{h} be two multiplicative Lie rings acting on each other. The actions are said to be compatible if

for all $x, x' \in \mathfrak{g}$ and $y, y' \in \mathfrak{h}$.

Remark 2.6. The first two conditions say that the underlying groups of \mathfrak{g} and \mathfrak{h} act on each other compatibly. If the underlying groups of \mathfrak{g} and \mathfrak{h} are abelian, then we have a compatible actions of Lie rings in the sense of [11].

Examples 2.7.

- (a) Let \mathfrak{g} and \mathfrak{h} be two ideals in a multiplicative Lie ring acting on each other as in Example 2.5(a). Then, the mutual actions of \mathfrak{g} and \mathfrak{h} are compatible.
- (b) Let G and H be two groups acting on each other compatibly and let $G_{[,]}$ and $H_{[,]}$ be the corresponding multiplicative Lie rings acting on each other as in Example 2.5(c). Then, the mutual actions of $G_{[,]}$ on $H_{[,]}$ are compatible.

2.8. Definition of non-abelian tensor product. Let \mathfrak{g} and \mathfrak{h} be two multiplicative Lie rings acting on each other. Then the non-abelian tensor product $\mathfrak{g} \otimes \mathfrak{h}$ is the multiplicative Lie ring generated by the symbols $x \otimes y$ (for all $x \in \mathfrak{g}$ and $y \in \mathfrak{h}$) subject to the following relations:

$$x \otimes (yy') = (x \otimes y)({}^{y}x \otimes {}^{y}y'), \qquad (2.6)$$

$$(xx') \otimes y = (^{x}x' \otimes ^{x}y)(x \otimes y), \qquad (2.7)$$

$$(\{x, x'\} \otimes {}^{x'}y)({}^{y}x \otimes \langle x', y \rangle)^{-1}({}^{x}x' \otimes \langle x, y \rangle^{-1})^{-1} = 1,$$

$$(2.8)$$

$${}^{(y'}x \otimes \{y, y'\})(\langle y, x \rangle^{-1} \otimes {}^{y}y')^{-1}(\langle y', x \rangle \otimes {}^{x}y)^{-1} = 1,$$
(2.9)

$$\{x \otimes y, x' \otimes y'\} = \langle y, x \rangle^{-1} \otimes \langle x', y' \rangle, \qquad (2.10)$$

for all $x, x' \in \mathfrak{g}, y, y' \in \mathfrak{h}$.

The following two propositions proved in [7] show that our definition of nonabelian tensor product of multiplicative Lie rings generalizes that of groups [2] and Lie rings [11]. **Proposition 2.9.** Let G and H be groups acting on each other compatibly. Then there is a natural isomorphism of multiplicative Lie rings

$$G_{[,]} \otimes H_{[,]} \cong (G \otimes H)_{[,]},$$

where the symbol \otimes on the right side denotes the non-abelian tensor product of groups.

Proposition 2.10. Let g and h be Lie rings acting on each other by Lie action. Then there is an isomorphism of Lie rings

 $g \otimes h \cong g \widetilde{\otimes} h.$

where $\widetilde{\otimes}$ denotes the non-abelian tensor product of Lie rings defined by Ellis.

Let \mathfrak{g} and \mathfrak{h} be two ideals in a multiplicative Lie ring acting on each other as in Example 2.5(a). Then, the non-abelian exterior product of \mathfrak{g} and \mathfrak{h} is defined by

 $\mathfrak{g} \wedge \mathfrak{h} = \mathfrak{g} \otimes \mathfrak{h} / \{ \text{ ideal generated by } x \otimes x, x \in \mathfrak{g} \cap \mathfrak{h} \}.$

There is a well-defined homomorphism $\mathfrak{g} \wedge \mathfrak{h} \to {\mathfrak{g}, \mathfrak{h}}, x \wedge y \mapsto {x, y}$. We denote this homomorphism by $\theta_{\mathfrak{g},\mathfrak{h}}$.

Given an extension of multiplicative Lie rings $1 \to \mathfrak{n} \to \mathfrak{g} \to \mathfrak{h} \to 1$, we have the following exact sequence of multiplicative Lie rings:

$$\mathfrak{g} \wedge \mathfrak{n} \to \mathfrak{g} \wedge \mathfrak{g} \to \mathfrak{h} \wedge \mathfrak{h} \to 1.$$
(2.11)

We will use the following theorem proved in [7].

Theorem 2.11. Let \mathfrak{g} be a multiplicative Lie ring. Then there is a natural isomorphism of groups

$$HS_2^{mlr}(\mathfrak{g}) \cong \operatorname{Ker}\left(\mathfrak{g} \wedge \mathfrak{g} \xrightarrow{\theta_{\mathfrak{g},\mathfrak{g}}} \{\mathfrak{g},\mathfrak{g}\}\right).$$

3. Non-Abelian tensor product of nilpotent, solvable and Engel Multiplicative Lie rings

In this section we generalize the results of [17, 19] to multiplicative Lie rings. In particular, we show that if the actions are compatible, then the non-abelian tensor product of nilpotent, solvable and Engel multiplicative Lie rings is nilpotent, solvable and Engel, respectively.

Let \mathfrak{g} be a multiplicative Lie ring. The *descending central series* of \mathfrak{g} is defined by

$$\Gamma_1(\mathfrak{g}) \supseteq \Gamma_2(\mathfrak{g}) \supseteq \Gamma_3(\mathfrak{g}) \supseteq \cdots$$

where $\Gamma_1(\mathfrak{g}) = \mathfrak{g}$ and $\Gamma_{i+1}(\mathfrak{g}) = \{\Gamma_i(\mathfrak{g}), \mathfrak{g}\}$. We say that \mathfrak{g} is *nilpotent*, if $\Gamma_i(\mathfrak{g}) = 1$ for some $i \geq 1$.

The *derived series* of \mathfrak{g} is defined by

$$\Gamma^{(1)}(\mathfrak{g}) \supseteq \Gamma^{(2)}(\mathfrak{g}) \supseteq \Gamma^{(3)}(\mathfrak{g}) \supseteq \cdots,$$

where $\Gamma^{(1)}(\mathfrak{g}) = \mathfrak{g}$ and $\Gamma^{(i+1)}(\mathfrak{g}) = {\Gamma^{(i)}(\mathfrak{g}), \Gamma^{(i)}(\mathfrak{g})}$. We say that \mathfrak{g} is *solvable*, if $\Gamma^{(i)}(\mathfrak{g}) = 1$ for some $i \geq 1$.

An extension of multiplicative Lie rings $1 \to \mathfrak{n} \to \mathfrak{g} \to \mathfrak{h} \to 1$ is said to be *central*, if \mathfrak{n} is contained in the center of \mathfrak{g} , i.e., $\{\mathfrak{n}, \mathfrak{g}\} = 1$. We also call it a *central extension* of \mathfrak{h} .

Remark 3.1. The definition immediately implies that a central extension of a nilpotent (solvable) multiplicative Lie ring is nilpotent (solvable). It is also clear that every subring of a nilpotent (solvable) multiplicative Lie ring is nilpotent (solvable).

Lemma 3.2. Let \mathfrak{g} and \mathfrak{h} be two multiplicative Lie rings acting on each other. If the actions of the underlying groups are compatible, then

$$\langle x,y\rangle\langle g,h\rangle\langle x,y\rangle^{-1} = \langle {}^{[x,y]}g, {}^{[x,y]}h\rangle, \ \langle y,x\rangle\langle h,g\rangle\langle y,x\rangle^{-1} = \langle {}^{[y,x]}h, {}^{[y,x]}g\rangle,$$

for all $x, g \in \mathfrak{g}$ and $y, h \in \mathfrak{h}$.

Proof. Since both equalities are essentially the same, we will check only the first one. For all $x, x' \in \mathfrak{g}$ and $y, y' \in \mathfrak{h}$, we have:

$$\begin{aligned} \langle xx', yy' \rangle &= \langle {}^{x}x', {}^{x}y^{x}y' \rangle \langle x, yy' \rangle = \langle {}^{x}x', {}^{x}y \rangle \langle {}^{xyx}x', {}^{xyx}y' \rangle \langle x, y \rangle \langle {}^{y}x, {}^{y}y' \rangle \\ &= \langle {}^{x}x', {}^{x}y \rangle \langle {}^{xy}x', {}^{xy}y' \rangle \langle x, y \rangle \langle {}^{y}x, {}^{y}y' \rangle. \end{aligned}$$

On the other hand,

$$\langle xx', yy' \rangle = \langle xx', y \rangle \langle {}^{y}x^{y}x', {}^{y}y' \rangle = \langle {}^{x}x', {}^{x}y \rangle \langle x, y \rangle \langle {}^{y}x^{y}x', {}^{y}xy' \rangle \langle {}^{y}x, {}^{y}y' \rangle$$
$$= \langle {}^{x}x', {}^{x}y \rangle \langle x, y \rangle \langle {}^{yx}x', {}^{yx}y' \rangle \langle {}^{y}x, {}^{y}y' \rangle.$$

Thus,

$$\langle x, y \rangle \langle {}^{yx}x', {}^{yx}y' \rangle \langle x, y \rangle^{-1} = \langle {}^{xy}x', {}^{xy}y' \rangle.$$

Set $g = {}^{yx}x'$ and $h = {}^{yx}y'$. Then, we get the desired result.

Lemma 3.3. Let \mathfrak{g} and \mathfrak{h} be two multiplicative Lie rings acting on each other compatibly. Then,

$$\left\{x \otimes y, \prod_{i=1}^n (x_i \otimes y_i)^{\varepsilon_i}\right\} = \langle y, x \rangle^{-1} \otimes \prod_{i=1}^n \langle x_i, y_i \rangle^{\varepsilon_i},$$

where $x, x_1, \ldots, x_n \in \mathfrak{g}$, $y, y_1, \ldots, y_n \in \mathfrak{h}$, and $\varepsilon_i = 1$ or $\varepsilon_i = -1$ for all $i = 1, 2, \ldots, n$.

Proof. We will show this identity by induction with respect to n. If n = 1 and $\varepsilon_1 = 1$, then it is true. If n = 1 and $\varepsilon_1 = -1$, then taking into account the compatibility of actions we will have:

$$\{x \otimes y, (x_1 \otimes y_1)^{-1}\} = {}^{(x_1 \otimes y_1)^{-1}} \{x \otimes y, x_1 \otimes y_1\}^{-1}$$

$$= \{{}^{[x_1,y_1]^{-1}}x \otimes {}^{[x_1,y_1]^{-1}}y, {}^{[x_1,y_1]^{-1}}x_1 \otimes {}^{[x_1,y_1]^{-1}}y_1\}^{-1}$$

$$= (\langle {}^{[y_1,x_1]}y, {}^{[y_1,x_1]}x \rangle^{-1} \otimes \langle {}^{[x_1,y_1]^{-1}}x_1, {}^{[x_1,y_1]^{-1}}y_1 \rangle)^{-1}$$

$$= ({}^{\langle y_1,x_1 \rangle}\langle y, x \rangle^{-1} \otimes {}^{\langle x_1,y_1 \rangle^{-1}}\langle x_1, y_1 \rangle)^{-1}$$

$$= ({}^{\langle x_1,y_1 \rangle^{-1}}\langle y, x \rangle^{-1} \otimes {}^{\langle x_1,y_1 \rangle^{-1}}\langle x_1, y_1 \rangle)^{-1}$$

$$= \langle {}^{\langle x_1,y_1 \rangle^{-1}}\langle y, x \rangle^{-1} \otimes {}^{\langle x_1,y_1 \rangle^{-1}}\langle x_1, y_1 \rangle)^{-1}$$

Now, suppose that the lemma is true for n-1. Then, using the previous lemma we will have:

$$\begin{aligned} \{x \otimes y, \prod_{i=1}^{n} (x_i \otimes y_i)^{\varepsilon_i}\} &= \{x \otimes y, (x_1 \otimes y_1)^{\varepsilon_1}\}^{(x_1 \otimes y_1)^{\varepsilon_1}} \{x \otimes y, \prod_{i=2}^{n} (x_i \otimes y_i)^{\varepsilon_i}\} \\ &= \{x \otimes y, (x_1 \otimes y_1)^{\varepsilon_1}\} \{^{[x_1,y_1]^{\varepsilon_1}} x \otimes [x_1,y_1]^{\varepsilon_1} y, \prod_{i=2}^{n} (^{[x_1,y_1]^{\varepsilon_1}} x_i \otimes [x_1,y_1]^{\varepsilon_1} y_i)^{\varepsilon_i}\} \\ &\quad \text{(by the induction hypothesis)} \end{aligned}$$
$$= (\langle y, x \rangle^{-1} \otimes \langle x_1, y_1 \rangle^{\varepsilon_1}) (\langle ^{[x_1,y_1]^{\varepsilon_1}} y, [x_1,y_1]^{\varepsilon_1} x \rangle^{-1} \otimes \prod_{i=2}^{n} \langle ^{[x_1,y_1]^{\varepsilon_1}} x_i, [x_1,y_1]^{\varepsilon_1} y_i \rangle^{\varepsilon_i}) \\ &= (\langle y, x \rangle^{-1} \otimes \langle x_1, y_1 \rangle^{\varepsilon_1}) (\langle ^{[y_1,x_1]^{-\varepsilon_1}} y, [y_1,x_1]^{-\varepsilon_1} x \rangle^{-1} \otimes \prod_{i=2}^{n} \langle ^{[x_1,y_1]^{\varepsilon_1}} x_i, [x_1,y_1]^{\varepsilon_1} y_i \rangle^{\varepsilon_i}) \\ &= (\langle y, x \rangle^{-1} \otimes \langle x_1, y_1 \rangle^{\varepsilon_1}) (\langle ^{\langle y_1,x_1 \rangle^{-\varepsilon_1}} \langle y, x \rangle^{-1} \otimes \prod_{i=2}^{n} \langle ^{\langle x_1,y_1 \rangle^{\varepsilon_1}} \langle x_i, y_i \rangle^{\varepsilon_i}) \\ &= (\langle y, x \rangle^{-1} \otimes \langle x_1, y_1 \rangle^{\varepsilon_1}) (\langle ^{\langle x_1,y_1 \rangle^{\varepsilon_1}} \langle y, x \rangle^{-1} \otimes \langle ^{\langle x_1,y_1 \rangle^{\varepsilon_1}} \prod_{i=2}^{n} \langle x_i, y_i \rangle^{\varepsilon_i}) \\ &= (\langle y, x \rangle^{-1} \otimes \langle x_1, y_1 \rangle^{\varepsilon_1}) (\langle ^{\langle x_1,y_1 \rangle^{\varepsilon_1}} \langle y, x \rangle^{-1} \otimes \langle ^{\langle x_1,y_1 \rangle^{\varepsilon_1}} \prod_{i=2}^{n} \langle x_i, y_i \rangle^{\varepsilon_i}) \\ &= (\langle y, x \rangle^{-1} \otimes \langle x_1, y_1 \rangle^{\varepsilon_1}) (\langle ^{\langle x_1,y_1 \rangle^{\varepsilon_1}} \langle y, x \rangle^{-1} \otimes \langle ^{\langle x_1,y_1 \rangle^{\varepsilon_1}} \prod_{i=2}^{n} \langle x_i, y_i \rangle^{\varepsilon_i}) \\ &= \langle y, x \rangle^{-1} \otimes \prod_{i=1}^{n} \langle x_i, y_i \rangle^{\varepsilon_i}. \quad \Box \end{aligned}$$

	-	-	-
1			т
1			т

Lemma 3.4. Let \mathfrak{g} and \mathfrak{h} be two multiplicative Lie rings acting on each other compatibly and $\phi: \mathfrak{g} \otimes \mathfrak{h} \to \mathfrak{h}$ be a map defined by $x \otimes y \mapsto \langle x, y \rangle$, for $x \in \mathfrak{g}$, $y \in \mathfrak{h}$. Then $\phi: \mathfrak{g} \otimes \mathfrak{h} \to \mathfrak{h}$ is a well-defined homomorphism of multiplicative Lie rings.

Proof. We have to show the following identities:

$$\begin{split} \phi \Big(x \otimes (yy') \Big) &= \phi(x \otimes y) \ \phi({}^{y}x \otimes {}^{y}y'), \\ \phi \big((xx') \otimes y \big) &= \phi({}^{x}x' \otimes {}^{x}y) \ \phi(x \otimes y), \\ \phi(\{x,x'\} \otimes {}^{x'}y) \ \phi \big({}^{y}x \otimes \langle x',y \rangle \ \big)^{-1} \ \phi \big({}^{x}x' \otimes \langle x,y \rangle^{-1} \ \big)^{-1} &= 1, \\ \phi({}^{y'}x \otimes \{y,y'\}) \ \phi(\langle y,x \rangle^{-1} \otimes {}^{y}y')^{-1} \ \phi(\langle y',x \rangle \otimes {}^{x}y)^{-1} &= 1, \\ \phi(\{x \otimes y,x' \otimes y'\}) &= \phi(\langle y,x \rangle^{-1} \otimes \langle x',y' \rangle). \end{split}$$

The first three identities are true even without compatibility conditions. We will check the last two identities.

$$\begin{split} &\phi(^{y'}x \otimes \{y,y'\}) \ \phi(\langle y,x\rangle^{-1} \otimes {}^{y}y')^{-1} \ \phi(\langle y',x\rangle \otimes {}^{x}y)^{-1} \\ &= \langle^{y'}x,\{y,y'\}\rangle \ \langle\langle y,x\rangle^{-1}, {}^{y}y'\rangle^{-1} \ \langle\langle y',x\rangle, {}^{x}y\rangle^{-1} \\ &= \langle^{y'}x,\{y,y'\}\rangle \ \{\langle x,y\rangle, {}^{y}y'\}^{-1} \ \langle\langle y',x\rangle, {}^{x}y\rangle^{-1} \\ &= \langle^{y'}x,\{y,y'\}\rangle \ \{{}^{y}y',\langle x,y\rangle\} \ \langle\langle y',x\rangle^{-1}, {}^{\langle y',x\rangle x}y\rangle \\ &= \langle^{y'}x,\{y,y'\}\rangle \ \{{}^{y}y',\langle x,y\rangle\} \ \{\langle x,y'\rangle, {}^{\langle y',x\rangle x}y\} \\ &= \langle^{y'}x,\{y,y'\}\rangle \ \{{}^{y}y',\langle x,y\rangle\} \ \{\langle x,y'\rangle^{-1}, {}^{\langle x,y'\rangle\langle y',x\rangle x}y\}^{-1} \\ &= \langle^{y'}x,\{y,y'\}\rangle \ \{{}^{y}y',\langle x,y\rangle\} \ \{{}^{x}y,\langle x,y'\rangle^{-1}\} = 1. \\ &\phi(\{x \otimes y,x' \otimes y'\}) = \{\langle x,y\rangle,\langle x',y'\rangle\} \\ &= \langle\langle y,x\rangle^{-1},\langle x',y'\rangle\rangle = \phi(\langle y,x\rangle^{-1} \otimes\langle x',y'\rangle). \end{split}$$

Proposition 3.5. Let \mathfrak{g} and \mathfrak{h} be two multiplicative Lie rings acting on each other compatibly. If \mathfrak{h} is nilpotent (solvable), then $\mathfrak{g} \otimes \mathfrak{h}$ is also nilpotent (solvable).

Proof. We have a short exact sequence of multiplicative Lie rings

$$1 \to \operatorname{Ker} \phi \to \mathfrak{g} \otimes \mathfrak{h} \to \phi(\mathfrak{g} \otimes \mathfrak{h}) \to 1,$$

where $\phi: \mathfrak{g} \otimes \mathfrak{h} \to \mathfrak{h}$ is a homomorphism of multiplicative Lie rings defined as in Lemma 3.4. If \mathfrak{h} is a nilpotent (solvable) multiplicative Lie ring, then so is $\phi(\mathfrak{g} \otimes \mathfrak{h})$. Therefore, it suffices to show that $\operatorname{Ker} \phi$ is contained in the center of $\mathfrak{g} \otimes \mathfrak{h}$, i.e. $\{\omega, \omega'\} = 1$, for each $\omega \in \mathfrak{g} \otimes \mathfrak{h}$ and $\omega' \in \operatorname{Ker} \phi$. Clearly, it is enough to consider the case $\omega = x \otimes y$, for each $x \in \mathfrak{g}$ and $y \in \mathfrak{h}$. Let $(x_1 \otimes y_1)^{\varepsilon_1} (x_2 \otimes y_2)^{\varepsilon_2} \cdots (x_n \otimes y_n)^{\varepsilon_n} \in$ $\operatorname{Ker} \phi$, where $x_1, \ldots, x_n \in \mathfrak{g}, y_1, \ldots, y_n \in \mathfrak{h}$ and $\varepsilon_1, \ldots, \varepsilon_n \in \{1, -1\}$. By Lemma 3.3 we have:

$$\{x \otimes y, \prod_{i=1}^{n} (x_i \otimes y_i)^{\varepsilon_i}\} = \langle y, x \rangle^{-1} \otimes \prod_{i=1}^{n} \langle x_i, y_i \rangle^{\varepsilon_i}$$
$$= \langle y, x \rangle^{-1} \otimes \phi \left(\prod_{i=1}^{n} \langle x_i, y_i \rangle^{\varepsilon_i}\right) = \langle y, x \rangle^{-1} \otimes 1 = 1.$$

Corollary 3.6 ([19]). Let G and H be two groups acting on each other compatibly. If H is nilpotent (solvable), then $G \otimes H$ is also nilpotent (solvable).

Proof. This follows from Proposition 3.5 and Proposition 2.9.

Corollary 3.7 ([17]). Let g and h be two Lie rings acting on each other compatibly. If h is nilpotent (solvable), then $g \otimes h$ is also nilpotent (solvable).

Proof. This follows from Proposition 3.5 and Proposition 2.10.

Let \mathfrak{g} be a multiplicative Lie ring. For each $x, y \in \mathfrak{g}$, set $\{x_{,1} y\} = \{x, y\}$ and $\{x_{,n+1} y\} = \{\{x_{,n} y\}, y\}$ for $n \ge 1$. We say that \mathfrak{g} is an Engel multiplicative Lie ring, if for each $x, y \in \mathfrak{g}$ there exists n = n(x, y) such that $\{x_{,n} y\} = 1$. Clearly,

every subring of an Engel multiplicative Lie ring is Engel. Moreover, it is easy to see that every central extension of an Engel multiplicative Lie ring is Engel.

Proposition 3.8. Let \mathfrak{g} and \mathfrak{h} be two multiplicative Lie rings acting on each other compatibly. If \mathfrak{h} is an Engel multiplicative Lie ring, then $\mathfrak{g} \otimes \mathfrak{h}$ is also Engel.

Proof. As in Proposition 3.5 we have a short exact sequence of multiplicative Lie rings

$$1 \to \operatorname{\mathsf{Ker}} \phi \to \mathfrak{g} \otimes \mathfrak{h} \to \phi(\mathfrak{g} \otimes \mathfrak{h}) \to 1,$$

where $\phi: \mathfrak{g} \otimes \mathfrak{h} \to \mathfrak{h}$ is a homomorphism of multiplicative Lie rings defined as in Lemma 3.4. This is a central extension of $\phi(\mathfrak{g} \otimes \mathfrak{h})$ which itself is a subring of an Engel multiplicative Lie ring \mathfrak{h} . Therefore, $\mathfrak{g} \otimes \mathfrak{h}$ is Engel.

This proposition immediately implies the following results.

Corollary 3.9. Let G and H be two groups acting on each other compatibly. If H is an Engel group, then $G \otimes H$ is also Engel.

Corollary 3.10. Let g and h be two Lie rings acting on each other compatibly. If h is an Engel Lie ring, then $g \otimes h$ is also Engel.

4. Exact sequences in homology

In this section we generalize the well-know five term exact sequence in homology of groups [13, Chapter 6] to multiplicative Lie rings.

Proposition 4.1. Let $1 \to \mathfrak{n} \to \mathfrak{g} \to \mathfrak{h} \to 1$ be an extension of multiplicative Lie rings. Then, we have the following exact sequence of groups:

$$\mathsf{Ker}\left(\theta_{\mathfrak{n},\mathfrak{g}}\colon\mathfrak{n}\wedge\mathfrak{g}\to\mathfrak{n}\right)\to HS_2^{mlr}(\mathfrak{g})\to HS_2^{mlr}(\mathfrak{h})\to\mathfrak{n}/\{\mathfrak{n},\mathfrak{g}\}\to HS_1^{mlr}(\mathfrak{g})\\\to HS_1^{mlr}(\mathfrak{h})\to 1,$$

where $\theta_{n,\mathfrak{g}}$ is defined as in Section 2.

Proof. By (2.11) we have the following commutative diagram with exact rows:



Now the snake lemma and Theorem 2.11 imply the proposition.

Remark 4.2.

(i) Let $1 \to R \to G \to H \to 1$ be an extension of groups. Suppose that $R_{[,]}, G_{[,]}$ and $H_{[,]}$ are multiplicative Lie rings defined as in Example 2.1(b). By [1, Proposition 3.9] $HS_2^{mlr}(G_{[,]})$ and $HS_2^{mlr}(H_{[,]})$ are isomorphic to the Eilenberg-MacLane homologies $H_2(G)$ and $H_2(H)$, respectively. Moreover, by Proposition 2.9 $(R \wedge G)_{[,]} \cong R_{[,]} \otimes G_{[,]}$. Thus, Proposition 4.1 yields the well-known six term exact sequence in homology of groups.

(ii) Let $1 \to \mathfrak{n} \to \mathfrak{g} \to \mathfrak{h} \to 1$ be an extension of Lie rings. By definition the weak homologies of a Lie ring are isomorphic to the Chevalley-Eilenberg homologies of the same ring (see [1]). Hence, by Theorem 2.3 $HS_2^{mlr}(\mathfrak{g})$ and $HS_2^{mlr}(\mathfrak{h})$ are

isomorphic to the second Chevalley-Eilenberg homologies of \mathfrak{g} and \mathfrak{h} , respectively. Thus, Proposition 4.1 yields the six term exact sequence in homology of Lie rings.

Proposition 4.3. Let $1 \to \mathfrak{n} \to \mathfrak{g} \to \mathfrak{h} \to 1$ be an extension of multiplicative Lie rings with \mathfrak{n} being perfect. Then, we have the following exact sequence of homology groups:

$$HS_2^{mlr}(\mathfrak{n}) \to HS_2^{mlr}(\mathfrak{g}) \to HS_2^{mlr}(\mathfrak{h}) \to 1.$$

Proof. First we will prove that

$$\mathsf{Im}\left(\mathfrak{n}\wedge\mathfrak{g}\to\mathfrak{g}\wedge\mathfrak{g}\right)=\mathsf{Im}\left(\mathfrak{n}\wedge\mathfrak{n}\to\mathfrak{g}\wedge\mathfrak{g}\right). \tag{4.1}$$

It is enough to show that $n \wedge g \in \operatorname{Im}(\mathfrak{n} \wedge \mathfrak{n} \to \mathfrak{g} \wedge \mathfrak{g})$ for each $n \in \mathfrak{n}$ and $g \in \mathfrak{g}$. Since \mathfrak{n} is perfect, every element n in \mathfrak{n} can be written as a finite product $\{x_1, x_1'\}\{x_2, x_2'\} \cdots \{x_t, x_t'\}$, where $x_i, x_i' \in \mathfrak{n}$ for each $i \in \{1, \ldots, t\}$. Therefore, by (2.7) it suffices to show that $\{x, x'\} \wedge g \in \operatorname{Im}(\mathfrak{n} \wedge \mathfrak{n} \to \mathfrak{g} \wedge \mathfrak{g})$ for each $x, x' \in \mathfrak{n}$ and $g \in \mathfrak{g}$. By (2.8) we have:

$$\{x, x'\} \land g = ({}^{x}x' \land \{{}^{x'^{-1}}g, x\})({}^{x'^{-1}gx'}x \land \{x', {}^{x'^{-1}}g\}) \in \operatorname{Im}\left(\mathfrak{n} \land \mathfrak{n} \to \mathfrak{g} \land \mathfrak{g}\right).$$

Using (4.1) we can modify the diagram in Proposition 4.1 as follows:



The snake lemma and Theorem 2.11 finish the proposition.

Corollary 4.4. Let $1 \to \mathfrak{n} \to \mathfrak{g} \to \mathfrak{h} \to 1$ be a central extension of multiplicative Lie rings with \mathfrak{g} being perfect. Then we have the following exact sequence of groups: $1 \to HS_2^{mlr}(\mathfrak{g}) \to HS_2^{mlr}(\mathfrak{h}) \to \mathfrak{n} \to 1.$

Proof. By Proposition 4.1 it is enough to prove that $\mathfrak{n} \wedge \mathfrak{g} = 1$. Since \mathfrak{g} is perfect, it suffices to show that $n \wedge \{g, g'\} = 1$ for each $n \in \mathfrak{n}$ and $g, g' \in \mathfrak{g}$. By (2.9) we have:

$$n \wedge \{g, g'\} = \left(\{g', g'^{-1}n\} \wedge g'^{-1}ng'g\right)\left(\{g'^{-1}n, g\} \wedge gg'\right) = 1,$$

because \mathfrak{n} is contained in the center of \mathfrak{g} .

Let R be a unital associative algebra over \mathbb{Z} . Denote by $\mathfrak{gl}_n(R)$, $n \geq 2$, the Lie ring of $n \times n$ matrices with entries in R and denote by $\mathfrak{sl}_n(R)$, $n \geq 2$, the Lie subring of $\mathfrak{gl}_n(R)$ generated by all strictly upper and lower triangular matrices. Let [R, R]be an additive subgroup of R generated by ab - ba for all $a, b \in R$. There is a homomorphism of Lie rings $\operatorname{tr}: \mathfrak{gl}_n(R) \to R/[R, R]$ (here R/[R, R] is a Lie ring with trivial Lie bracket) given by $\alpha \mapsto \operatorname{tr}(\alpha) + [R, R]$, where $\operatorname{tr}(\alpha)$ denotes the trace of a matrix $\alpha \in \mathfrak{gl}_n(R)$, $n \geq 2$. If $n \geq 3$, then $\mathfrak{sl}_n(R)$ is a perfect Lie ring. Moreover, we have the following extension of Lie rings:

$$0 \to \mathfrak{sl}_n(R) \to \mathfrak{gl}_n(R) \xrightarrow{\operatorname{tr}} R/[R,R] \to 0.$$

Corollary 4.5. Let R be an associative algebra over \mathbb{Z} . Then we have the following exact sequence of groups

$$HC_1(R) \to H_2(\mathfrak{gl}_n(R)) \to \frac{R}{[R,R]} \land \frac{R}{[R,R]} \to 1, \quad n \ge 5,$$

where $HC_1(R)$ denotes the first cyclic homology group of R and $H_2(\mathfrak{gl}_n(R))$ denotes the second Chevalley-Eilenberg homology of $\mathfrak{gl}_n(R)$.

Proof. We know that $HS_2^{mlr}(\mathfrak{gl}_n(R)) \cong H_2(\mathfrak{gl}_n(R))$ (see [1]). Therefore, by Proposition 4.3 we have the following exact sequence:

$$H_2(\mathfrak{sl}_n(R)) \to H_2(\mathfrak{gl}_n(R)) \to H_2(R/[R,R]) \to 1, \quad n \ge 3.$$

Since R/[R, R] has the trivial Lie bracket, $H_2(R/[R, R]) = \frac{R}{[R,R]} \wedge \frac{R}{[R,R]}$. On the other hand, by [15] $H_2(\mathfrak{sl}_n(R)) = HC_1(R)$ for $n \ge 5$.

An extension of multiplicative Lie rings $1 \to \mathfrak{r} \to \mathfrak{f} \to \mathfrak{g} \to 1$ is said to be a free presentation of \mathfrak{g} , if \mathfrak{f} is a free multiplicative Lie ring over a set. In [7] we have posed the following question:

Question. Let \mathfrak{g} be a multiplicative Lie ring and $1 \to \mathfrak{r} \to \mathfrak{f} \to \mathfrak{g} \to 1$ be a free presentation of \mathfrak{g} . Is there an isomorphism between $HS_3^{mlr}(\mathfrak{g})$ and $\operatorname{Ker} \theta_{\mathfrak{r},\mathfrak{f}}$?

We do not know the answer to this question yet. In [7] we proved the following:

Proposition 4.6. Let \mathfrak{g} be a multiplicative Lie ring and $1 \to \mathfrak{r} \to \mathfrak{f} \to \mathfrak{g} \to 1$ be a free presentation of \mathfrak{g} . Suppose that for any free presentation $1 \to \mathfrak{r}' \to \mathfrak{f}' \to \mathfrak{f} \to 1$ of the free multiplicative Lie ring \mathfrak{f} , $\operatorname{Ker} \theta_{\mathfrak{r}',\mathfrak{f}'} = 1$. Then, there is an isomorphism between $HS_3^{mlr}(\mathfrak{g})$ and $\operatorname{Ker} \theta_{\mathfrak{r},\mathfrak{f}}$.

Proposition 4.6 says that if the answer to the aforementioned question is positive for free multiplicative Lie rings, then it will be the same for arbitrary multiplicative Lie rings. Based on the hypothesis in Proposition 4.6 we can prove the eight term exact sequence in the homology of multiplicative Lie rings.

Proposition 4.7. Let \mathfrak{g} be a multiplicative Lie ring and $1 \to \mathfrak{r} \to \mathfrak{f} \to \mathfrak{g} \to 1$ be a free presentation of \mathfrak{g} . Suppose that for any free presentation $1 \to \mathfrak{r}' \to \mathfrak{f}' \to \mathfrak{f} \to 1$ of \mathfrak{f} , Ker $\theta_{\mathfrak{r}',\mathfrak{f}'} = 1$. Then, for any extension of multiplicative Lie rings $1 \to \mathfrak{n} \to \mathfrak{g} \to \mathfrak{h} \to 1$, we have the following exact sequence of groups:

$$\begin{split} HS_3^{mlr}(\mathfrak{g}) &\to HS_3^{mlr}(\mathfrak{h}) \to \mathsf{Ker}\left(\theta_{\mathfrak{n},\mathfrak{g}} \colon \mathfrak{n} \land \mathfrak{g} \to \mathfrak{n}\right) \to HS_2^{mlr}(\mathfrak{g}) \to HS_2^{mlr}(\mathfrak{h}) \\ &\to \mathfrak{n}/\{\mathfrak{n},\mathfrak{g}\} \to HS_1^{mlr}(\mathfrak{g}) \to HS_1^{mlr}(\mathfrak{h}) \to 1. \end{split}$$

Proof. Let \mathfrak{s} be an ideal of \mathfrak{f} such that $\mathfrak{f}/\mathfrak{s} = \mathfrak{h}$. By Proposition 4.6 we have:

$$HS_3^{mlr}(\mathfrak{g}) \cong \operatorname{Ker} \theta_{\mathfrak{r},\mathfrak{f}}, \qquad HS_3^{mlr}(\mathfrak{h}) \cong \operatorname{Ker} \theta_{\mathfrak{s},\mathfrak{f}}.$$

$$(4.2)$$

The extensions $1 \to \mathfrak{r} \to \mathfrak{f} \to \mathfrak{g} \to 1$ and $1 \to \mathfrak{r} \to \mathfrak{s} \to \mathfrak{n} \to 1$ imply the following exact sequence:

$$\mathfrak{s} \otimes \mathfrak{r} \times \mathfrak{r} \otimes \mathfrak{f} \to \mathfrak{s} \otimes \mathfrak{f} \to \mathfrak{n} \otimes \mathfrak{g} \to 1.$$

Using this sequence we get the following exact sequence:

 $\mathfrak{r}\wedge\mathfrak{f}\to\mathfrak{s}\wedge\mathfrak{f}\to\mathfrak{n}\wedge\mathfrak{g}\to 1.$

Thus, we have the following commutative diagram with exact rows:

$$\begin{array}{c|c} \mathfrak{r} \wedge \mathfrak{f} & \longrightarrow \mathfrak{s} \wedge \mathfrak{f} & \longrightarrow \mathfrak{n} \wedge \mathfrak{g} & \longrightarrow 1 \\ \\ \theta_{\mathfrak{r},\mathfrak{f}} \middle| & \theta_{\mathfrak{s},\mathfrak{f}} \middle| & \theta_{\mathfrak{n},\mathfrak{g}} \middle| \\ 1 & \longrightarrow \mathfrak{r} & \longrightarrow \mathfrak{s} & \longrightarrow \mathfrak{n} & \longrightarrow 1. \end{array}$$

The snake lemma and (4.2) imply the following exact sequence:

$$HS_3^{mlr}(\mathfrak{g}) \to HS_3^{mlr}(\mathfrak{h}) \to \operatorname{Ker}\left(\theta_{\mathfrak{n},\mathfrak{g}} \colon \mathfrak{n} \land \mathfrak{g} \to \mathfrak{n}\right) \to \mathfrak{r}/\{\mathfrak{r},\mathfrak{f}\} \to \mathfrak{s}/\{\mathfrak{s},\mathfrak{f}\}.$$

It is easy to see that

$$\mathsf{Im}\left(\mathsf{Ker}\left(\theta_{\mathfrak{n},\mathfrak{g}}\colon\mathfrak{n}\wedge\mathfrak{g}\to\mathfrak{n}\right)\to\mathfrak{r}/\{\mathfrak{r},\mathfrak{f}\}\right)\subseteq\frac{\mathfrak{r}\cap\{\mathfrak{f},\mathfrak{f}\}}{\{\mathfrak{r},\mathfrak{f}\}}.$$

Therefore, we have an exact sequence of groups:

$$HS_3^{mlr}(\mathfrak{g}) \to HS_3^{mlr}(\mathfrak{h}) \to \mathsf{Ker}\left(\theta_{\mathfrak{n},\mathfrak{g}} \colon \mathfrak{n} \land \mathfrak{g} \to \mathfrak{n}\right) \to \frac{\mathfrak{r} \cap \{\mathfrak{f},\mathfrak{f}\}}{\{\mathfrak{r},\mathfrak{f}\}} \to \frac{\mathfrak{s} \cap \{\mathfrak{f},\mathfrak{f}\}}{\{\mathfrak{s},\mathfrak{f}\}}$$

Using the Hopf formula [1] we get an exact sequence of groups:

$$HS_3^{mlr}(\mathfrak{g}) \to HS_3^{mlr}(\mathfrak{h}) \to \operatorname{Ker}\left(\theta_{\mathfrak{n},\mathfrak{g}} \colon \mathfrak{n} \land \mathfrak{g} \to \mathfrak{n}\right) \to HS_2^{mlr}(\mathfrak{g}) \to HS_2^{mlr}(\mathfrak{h}).$$

The rest of the proof follows from Proposition 4.1.

Proposition 4.8. Let \mathfrak{g} be a multiplicative Lie ring and $1 \to \mathfrak{r} \to \mathfrak{f} \to \mathfrak{g} \to 1$ be an extension with \mathfrak{f} being a free multiplicative Lie ring over a group. Suppose that for any extension $1 \to \mathfrak{r}' \to \mathfrak{f}' \to \mathfrak{f} \to 1$ of \mathfrak{f} , where \mathfrak{f}' is a free multiplicative Lie ring over a group, $\operatorname{Ker} \theta_{\mathfrak{r}',\mathfrak{f}'} = 1$. Then, for any extension of multiplicative Lie rings $1 \to \mathfrak{n} \to \mathfrak{g} \to \mathfrak{h} \to 1$, we have the following exact sequence of groups:

$$\begin{split} HW_3^{mlr}(\mathfrak{g}) &\to HW_3^{mlr}(\mathfrak{h}) \to \mathsf{Ker}\left(\theta_{\mathfrak{n},\mathfrak{g}} \colon \mathfrak{n} \land \mathfrak{g} \to \mathfrak{n}\right) \to HW_2^{mlr}(\mathfrak{g}) \to HW_2^{mlr}(\mathfrak{h}) \\ &\to \mathfrak{r}/\{\mathfrak{r},\mathfrak{g}\} \to HW_1^{mlr}(\mathfrak{g}) \to HW_1^{mlr}(\mathfrak{h}) \to 1. \end{split}$$

Proof. We have an analogue of Proposition 4.6 for the third weak homology group of a multiplicative Lie ring (see [7]). Therefore, the proof of Proposition 4.8 can be carried out as that of Proposition 4.7. \Box

In the next theorem we will use our method to reprove the eight term exact sequence in the homology of Lie algebras which is implicitly given in [11].

Theorem 4.9. Let k be a commutative ring with identity and $1 \rightarrow n \rightarrow g \rightarrow h \rightarrow 1$ be an extension of Lie algebras over k. Then we have the following exact sequence of groups:

$$\begin{aligned} \mathsf{H}_3(g) \to \mathsf{H}_3(\hbar) \to \mathsf{Ker}\left(\theta_{n,g} \colon n \land g \to n\right) \to \mathsf{H}_2(g) \to \mathsf{H}_2(\hbar) \\ & \to n/[n,g] \to \mathsf{H}_1(g) \to \mathsf{H}_1(\hbar) \to 1, \end{aligned}$$

where H_i denotes the *i*-th Chevalley-Eilenberg homology for i = 1, 2, 3.

Proof. Let Lie denote the category of Lie algebras over k. Let U: Lie \rightarrow Sets be the natural forgetful functor. The functor U admits a left adjoint functor F: Sets \rightarrow Lie. We know that the Chevalley-Eilenberg homology of a Lie algebra g is isomorphic to the left derived functor of the abelianization functor Ab, $Ab(g) = \frac{g}{[g,g]}$, $H_n(g) \cong \mathcal{L}_{n-1}^{\mathsf{P}}Ab(g)$, $n \geq 1$, where P is a projective class defined by the adjoint pair (F, U). The method used in the proof of Proposition 4.7 shows that it suffices to prove Ker $\theta_{r,f'} = 1$, for all extension of Lie algebras $1 \rightarrow r \rightarrow f' \xrightarrow{p} f \rightarrow 1$ with free Lie

algebras f and f'. Let $\mu: r \wedge f' \to f' \wedge f'$ be a natural homomorphism. We have the following commutative diagram:



Since f' is a free Lie algebra, $\operatorname{Ker} \theta_{f',f'} = 1$. Therefore, it is enough to show that $\operatorname{Ker} \mu = 1$. Since f is a free Lie algebra, there is a homomorphism of Lie algebras $i: f \to f'$ such that $pi = 1_f$. Now [11, Proposition 13] implies that μ is injective. \Box

5. A NEW VERSION OF STALLINGS' THEOREM

Given a multiplicative Lie ring \mathfrak{g} , let $\Gamma_n(\mathfrak{g})$ (resp. $\Gamma^{(n)}(\mathfrak{g})$), $n \geq 1$, denote the lower central series (resp. the derived series) of \mathfrak{g} defined in Section 3. Using Proposition 4.1 we are able to prove Stallings' theorem (see [13, VI. Theorem 9.1] or [18]) and Dwyer's theorem (see [9, Theorem 1.1]) in the multiplicative Lie ring framework.

Theorem 5.1. Let $\phi: \mathfrak{g} \to \mathfrak{g}'$ be a homomorphism of multiplicative Lie rings. If the induced homomorphism $\phi_*: HS_1^{mlr}(\mathfrak{g}) \to HS_1^{mlr}(\mathfrak{g}')$ is an isomorphism and $\phi_*: HS_2^{mlr}(\mathfrak{g}) \to HS_2^{mlr}(\mathfrak{g}')$ is an epimorphism, then ϕ induces isomorphisms $\phi_*: \mathfrak{g}/\Gamma_n(\mathfrak{g}) \to \mathfrak{g}'/\Gamma_n(\mathfrak{g}')$, for each $n \geq 1$. Consequently, if \mathfrak{g} and \mathfrak{g}' are nilpotent, then ϕ is an isomorphism.

Proof. The proof follows [13, VI.Theorem 9.1] mutatis mutandis.

Given a multiplicative Lie ring \mathfrak{g} , let $\Phi_k(\mathfrak{g}), k \geq 2$, denote the kernel of the natural map $HS_2^{mlr}(\mathfrak{g}) \to HS_2^{mlr}(\mathfrak{g}/\Gamma_{k-1}(\mathfrak{g})).$

Theorem 5.2. Let $\phi: \mathfrak{g} \to \mathfrak{g}'$ be a homomorphism of multiplicative Lie rings which induces an isomorphism $\phi_*: HS_1^{mlr}(\mathfrak{g}) \to HS_1^{mlr}(\mathfrak{g}')$. Then the following three conditions are equivalent:

(i) ϕ induces an epimorphism $HS_2^{mlr}(\mathfrak{g})/\Phi_k(\mathfrak{g}) \to HS_2^{mlr}(\mathfrak{g}')/\Phi_k(\mathfrak{g}').$

(ii) ϕ induces an isomorphism $\mathfrak{g}/\Gamma_k(\mathfrak{g}) \to \mathfrak{g}'/\Gamma_k(\mathfrak{g}')$.

(iii) ϕ induces an isomorphism $HS_2^{mlr}(\mathfrak{g})/\Phi_k(\mathfrak{g}) \to HS_2^{mlr}(\mathfrak{g}')/\Phi_k(\mathfrak{g}')$ and an injection $HS_2^{mlr}(\mathfrak{g})/\Phi_{k+1}(\mathfrak{g}) \to HS_2^{mlr}(\mathfrak{g}')/\Phi_{k+1}(\mathfrak{g}')$.

Proof. The proof follows [9, Theorem 1.1] mutatis mutandis.

We do not have such a nice relationship between the derived series and homology. For instance, if D_k is the dihedral group of order 2k, then the natural projection $D_k \to \mathbb{Z}/2\mathbb{Z}$ satisfies the hypothesis of Theorem 5.1 for each odd number $k \geq 3$. But if $n \geq 3$, we do not have an isomorphism between $D_k/\Gamma^{(n)}(D_k)$ and $\mathbb{Z}/2\mathbb{Z}$.

Various analogous of Stallings' theorem and Dwyer's theorem showing the relationships between the derived series and homology are given in [3–6]. In this section our aim is to show that if ϕ satisfies the hypothesis of Theorem 5.1, then ϕ induces an isomorphism $\mathfrak{g}/(\{\operatorname{Ker} \phi, \mathfrak{g}\} \Gamma^{(n)}(\mathfrak{g})) \to \mathfrak{g}'/\Gamma^{(n)}(\mathfrak{g}')$ for all $n \geq 1$. This version of "Stallings' theorem" differs from those of [3–6] and we refer it as the new version of Stallings' theorem.

Lemma 5.3. Let $1 \to \mathfrak{r} \to \mathfrak{f} \xrightarrow{\alpha} \mathfrak{g} \to 1$ and $1 \to \mathfrak{n} \to \mathfrak{g} \xrightarrow{\beta} \mathfrak{q} \to 1$ be extensions of multiplicative Lie rings. Then, there is an exact sequence:

$$\frac{\mathfrak{r} \cap \{\mathfrak{f},\mathfrak{f}\}}{\{\mathfrak{r},\mathfrak{r}\}} \to \frac{\mathfrak{s} \cap \{\mathfrak{f},\mathfrak{f}\}}{\{\mathfrak{s},\mathfrak{s}\}} \to \frac{\mathfrak{n}}{\{\mathfrak{n},\mathfrak{n}\}} \to \frac{\mathfrak{g}}{\{\mathfrak{g},\mathfrak{g}\}} \to \frac{\mathfrak{q}}{\{\mathfrak{q},\mathfrak{q}\}} \to 1,$$

where $\mathfrak{s} = \mathsf{Ker}(\beta \circ \alpha)$.

Proof. We have the following exact sequence:

$$1 \to \frac{\mathfrak{n} \cap \{\mathfrak{g}, \mathfrak{g}\}}{\{\mathfrak{n}, \mathfrak{n}\}} \to \frac{\mathfrak{n}}{\{\mathfrak{n}, \mathfrak{n}\}} \to \frac{\mathfrak{g}}{\{\mathfrak{g}, \mathfrak{g}\}} \to \frac{\mathfrak{q}}{\{\mathfrak{q}, \mathfrak{q}\}} \to 1.$$
(5.1)

Since $\mathfrak{s} = \alpha^{-1}(\mathfrak{n})$ and $\mathfrak{r} = \text{Ker}(\alpha \colon \mathfrak{s} \to \mathfrak{n})$, the following sequence is also exact:

$$\frac{\mathfrak{r} \cap \{\mathfrak{f}, \mathfrak{f}\}}{\{\mathfrak{r}, \mathfrak{r}\}} \to \frac{\mathfrak{s} \cap \{\mathfrak{f}, \mathfrak{f}\}}{\{\mathfrak{s}, \mathfrak{s}\}} \to \frac{\mathfrak{n} \cap \{\mathfrak{g}, \mathfrak{g}\}}{\{\mathfrak{n}, \mathfrak{n}\}} \to 1.$$
(5.2)

By (5.1) and (5.2) we get the required results.

Lemma 5.3 immediately implies the following results:

Corollary 5.4. Let $1 \to \mathfrak{r} \to \mathfrak{f} \xrightarrow{\alpha} \mathfrak{g} \to 1$ and $1 \to \mathfrak{n} \to \mathfrak{g} \xrightarrow{\beta} \mathfrak{q} \to 1$ be extensions of multiplicative Lie rings. Suppose that $\mathfrak{s} = \text{Ker}(\beta \circ \alpha)$ and that $\overline{\mathfrak{s}}$ is an ideal of $\mathfrak{s} \cap \{\mathfrak{f}, \mathfrak{f}\}$. Then, we have the following exact sequence:

$$\frac{\mathfrak{r} \cap \{\mathfrak{f},\mathfrak{f}\}}{\{\mathfrak{r},\mathfrak{r}\}} \to \frac{\mathfrak{s} \cap \{\mathfrak{f},\mathfrak{f}\}}{\overline{\mathfrak{s}}\{\mathfrak{s},\mathfrak{s}\}} \to \frac{\mathfrak{n}}{\alpha(\overline{\mathfrak{s}})\{\mathfrak{n},\mathfrak{n}\}} \to \frac{\mathfrak{g}}{\{\mathfrak{g},\mathfrak{g}\}} \to \frac{\mathfrak{q}}{\{\mathfrak{q},\mathfrak{q}\}} \to 1.$$

Corollary 5.5. Let $1 \to \mathfrak{r} \to \mathfrak{f} \xrightarrow{\alpha} \mathfrak{g} \to 1$ and $1 \to \mathfrak{n} \to \mathfrak{g} \xrightarrow{\beta} \mathfrak{q} \to 1$ be extensions of multiplicative Lie rings. Suppose that $\overline{\mathfrak{r}}$ is an ideal of $\mathfrak{r} \cap {\mathfrak{f}}$. Then, we have the following exact sequence:

$$\frac{\mathfrak{r} \cap \{\mathfrak{f},\mathfrak{f}\}}{\overline{\mathfrak{r}}\{\mathfrak{r},\mathfrak{r}\}} \to \frac{\mathfrak{s} \cap \{\mathfrak{f},\mathfrak{f}\}}{\overline{\mathfrak{r}}\{\mathfrak{s},\mathfrak{s}\}} \to \frac{\mathfrak{n}}{\{\mathfrak{n},\mathfrak{n}\}} \to \frac{\mathfrak{g}}{\{\mathfrak{g},\mathfrak{g}\}} \to \frac{\mathfrak{q}}{\{\mathfrak{q},\mathfrak{q}\}} \to 1,$$

where $\mathfrak{s} = \mathsf{Ker}(\beta \circ \alpha)$.

Now we are ready to prove the new version of Stallings' theorem.

Theorem 5.6. Let $\phi: \mathfrak{g} \to \mathfrak{g}'$ be a homomorphism of multiplicative Lie rings. Suppose that $HS_1^{mlr}(\phi)$ is an isomorphism and that $HS_2^{mlr}(\phi)$ is an epimorphism. Then (i) ϕ induces an isomorphism

$$\frac{\mathfrak{g}}{\{\operatorname{\mathsf{Ker}}\phi,\mathfrak{g}\}\,\Gamma^{(i)}(\mathfrak{g})}\xrightarrow{\cong}\frac{\mathfrak{g}'}{\Gamma^{(i)}(\mathfrak{g}')},\quad i\geq 1;$$

(ii) if both \mathfrak{g} and \mathfrak{g}' are solvable multiplicative Lie rings, then ϕ induces an isomorphism

 $\frac{\mathfrak{g}}{\{\operatorname{Ker}\phi,\mathfrak{g}\}} \xrightarrow{\cong} \mathfrak{g}'.$ *Moreover*, $\{\operatorname{Ker}\phi,\mathfrak{g}\} = \{\{\operatorname{Ker}\phi,\mathfrak{g}\},\mathfrak{g}\} = \{\{\operatorname{Ker}\phi,\mathfrak{g}\},\mathfrak{g}\} = \{\{\operatorname{Ker}\phi,\mathfrak{g}\},\mathfrak{g}\} = \cdots$

Proof.

(i) We will proceed by the induction with respect to *i*. If i = 1, then the proposition is true. Assume that it is true for *i*. Let $1 \to \mathfrak{r} \to \mathfrak{f} \xrightarrow{\alpha} \mathfrak{g} \to 1$ be a free presentation of \mathfrak{g} . Set $\mathfrak{n} = \{ \operatorname{Ker} \phi, \mathfrak{g} \} \Gamma^{(i)}(\mathfrak{g}), \mathfrak{r}' = \operatorname{Ker}(\phi \circ \alpha) \text{ and } \mathfrak{s} = \operatorname{Ker}(\beta \circ \alpha),$ where β is defined as the natural projection $\mathfrak{g} \to \mathfrak{g}/\mathfrak{n}$. By the assumption we have an

isomorphism $\mathfrak{g}/(\{\operatorname{Ker} \phi, \mathfrak{g}\} \Gamma^{(i)}(\mathfrak{g})) \xrightarrow{\cong} \mathfrak{g}'/\Gamma^{(i)}(\mathfrak{g}')$ induced by ϕ . Therefore, $\mathfrak{r}' \subseteq \mathfrak{s}$. Consider the following commutative diagram:

$$\begin{array}{cccc} & \underbrace{\mathfrak{r} \cap \{\mathfrak{f}, \mathfrak{f}\}}_{\{\mathfrak{r}, \mathfrak{r}\}} \longrightarrow \underbrace{\mathfrak{s} \cap \{\mathfrak{f}, \mathfrak{f}\}}_{\{\mathfrak{r}', \mathfrak{f}\}\{\mathfrak{s}, \mathfrak{s}\}} \longrightarrow & \frac{\mathfrak{n}}{\alpha(\{\mathfrak{r}', \mathfrak{f}\})\{\mathfrak{n}, \mathfrak{n}\}} \longrightarrow HS_1^{mlr}(\mathfrak{g}) \longrightarrow HS_1^{mlr}\left(\frac{\mathfrak{g}}{\mathfrak{n}}\right) \\ & & & \downarrow \gamma_1 & & \downarrow \gamma_2 & & \downarrow \gamma_3 & & \downarrow \gamma_4 & & \downarrow \gamma_5 \\ & & \underbrace{\mathfrak{r}' \cap \{\mathfrak{f}, \mathfrak{f}\}}_{\{\mathfrak{r}', \mathfrak{f}\}} \longrightarrow & \underbrace{\mathfrak{s} \cap \{\mathfrak{f}, \mathfrak{f}\}}_{\{\mathfrak{r}', \mathfrak{f}\}\{\mathfrak{s}, \mathfrak{s}\}} \longrightarrow & \underbrace{\Gamma^{(i)}(\mathfrak{g}')}_{\{\Gamma^{(i)}(\mathfrak{g}'), \Gamma^{(i)}(\mathfrak{g}')\}} \longrightarrow HS_1^{mlr}(\mathfrak{g}') \longrightarrow HS_1^{mlr}\left(\frac{\mathfrak{g}'}{\Gamma^{(i)}(\mathfrak{g}')}\right), \end{array}$$

where $\gamma_1, \ldots, \gamma_5$ are defined in a natural way. By Corollary 5.4 and 5.5, the upper and lower rows of this diagram are exact. By the Hopf formula we have:

$$HS_2^{mlr}(\mathfrak{g}) = \frac{\mathfrak{r} \cap \{\mathfrak{f}, \mathfrak{f}\}}{\{\mathfrak{r}, \mathfrak{f}\}}, \qquad HS_2^{mlr}(\mathfrak{g}') = \frac{\mathfrak{r}' \cap \{\mathfrak{f}, \mathfrak{f}\}}{\{\mathfrak{r}', \mathfrak{f}\}}$$

Therefore, γ_1 is an epimorphism. Moreover, since γ_2 , γ_4 and γ_5 are isomorphisms, the above diagram implies that γ_3 is also an isomorphism. But $\alpha(\{\mathfrak{r}',\mathfrak{f}\}) = \{\alpha(\mathfrak{r}'), \alpha(\mathfrak{f})\} = \{\mathsf{Ker} \phi, \mathfrak{g}\}$. Thus, we get that

$$\frac{\mathfrak{n}}{\alpha(\{\mathfrak{r}',\mathfrak{f}\})\{\mathfrak{n},\mathfrak{n}\}} = \frac{\{\operatorname{Ker}\phi,\mathfrak{g}\}\,\Gamma^{(i)}(\mathfrak{g})}{\{\operatorname{Ker}\phi,\mathfrak{g}\}\,\{\Gamma^{(i)}(\mathfrak{g}),\Gamma^{(i)}(\mathfrak{g})\}}$$

and ϕ induces an isomorphism

$$\frac{\{\operatorname{\mathsf{Ker}}\phi,\mathfrak{g}\}\Gamma^{(i)}(\mathfrak{g})}{\{\operatorname{\mathsf{Ker}}\phi,\mathfrak{g}\}\{\Gamma^{(i)}(\mathfrak{g}),\Gamma^{(i)}(\mathfrak{g})\}} \xrightarrow{\cong} \frac{\Gamma^{(i)}(\mathfrak{g}')}{\{\Gamma^{(i)}(\mathfrak{g}'),\Gamma^{(i)}(\mathfrak{g}')\}}$$

Now, the following commutative diagram completes the proof:

$$\begin{split} 1 & \longrightarrow \frac{\{\operatorname{\mathsf{Ker}} \phi, \mathfrak{g}\} \Gamma^{(i)}(\mathfrak{g})}{\{\operatorname{\mathsf{Ker}} \phi, \mathfrak{g}\} \Gamma^{(i+1)}(\mathfrak{g})} & \longrightarrow \frac{\mathfrak{g}}{\{\operatorname{\mathsf{Ker}} \phi, \mathfrak{g}\} \Gamma^{(i)}(\mathfrak{g})} & \longrightarrow 1\\ & & & & \\ & & & & & \\ & & & & & \\ & & & & & \\ 1 & \longrightarrow \frac{\Gamma^{(i)}(\mathfrak{g}')}{\Gamma^{(i+1)}(\mathfrak{g}')} & \longrightarrow \frac{\mathfrak{g}'}{\Gamma^{(i+1)}(\mathfrak{g}')} & \longrightarrow \frac{\mathfrak{g}'}{\Gamma^{(i)}(\mathfrak{g}')} & \longrightarrow 1. \end{split}$$

(ii) Using (i) we obtain an isomorphism $\mathfrak{g}/\{\operatorname{Ker}\phi,\mathfrak{g}\} \xrightarrow{\cong} \mathfrak{g}'$ induced by ϕ . Let $\phi_1: \mathfrak{g} \to \mathfrak{g}/\{\operatorname{Ker}\phi,\mathfrak{g}\}$ be the natural projection. Then $HS_1^{mlr}(\phi_1)$ is an isomorphism and $HS_2^{mlr}(\phi_1)$ is an epimorphism. Therefore, ϕ_1 induces an isomorphism $\mathfrak{g}/\{\operatorname{Ker}\phi_1,\mathfrak{g}\} \xrightarrow{\cong} \mathfrak{g}/\{\operatorname{Ker}\phi,\mathfrak{g}\}$. This implies that $\{\operatorname{Ker}\phi,\mathfrak{g}\} = \{\operatorname{Ker}\phi_1,\mathfrak{g}\} = \{\{\operatorname{Ker}\phi,\mathfrak{g}\},\mathfrak{g}\}$. Similarly using the natural projection $\phi_2: \mathfrak{g} \to \mathfrak{g}/\{\{\operatorname{Ker}\phi,\mathfrak{g}\},\mathfrak{g}\}$ one can prove that $\{\{\operatorname{Ker}\phi,\mathfrak{g}\},\mathfrak{g}\} = \{\{\operatorname{Ker}\phi,\mathfrak{g}\},\mathfrak{g}\},\mathfrak{g}\}$, and so on. \Box

In the next corollary H_1 and H_2 denote the first and second Eilenberg-MacLane homology functors, respectively.

Corollary 5.7. Let $\phi: G \to G'$ be a homomorphism of groups. Suppose that $H_1(\phi)$ is an isomorphism and that $H_2(\phi)$ is an epimorphism. Then

(i) ϕ induces an isomorphism

$$\frac{G}{[\operatorname{\mathsf{Ker}}\phi,G]\,\Gamma^{(i)}(G)}\xrightarrow{\cong} \frac{G'}{\Gamma^{(i)}(G')}, \quad i\geq 1;$$

(ii) if both G and G' are solvable groups, then ϕ induces an isomorphism

$$\frac{G}{[\operatorname{\mathsf{Ker}}\phi,G]} \xrightarrow{\cong} G'.$$

16 EXACT SEQUENCES IN HOMOLOGY OF MULTIPLICATIVE LIE RINGS

Moreover, $[\operatorname{Ker} \phi, G] = [[\operatorname{Ker} \phi, G], G] = [[[\operatorname{Ker} \phi, G], G], G] = \cdots$.

Proof. This follows from Theorem 5.6 and [1, Proposition 3.9].

In the next corollary H_1 and H_2 denote the first and second Chevalley-Eilenberg homology functors, respectively.

Corollary 5.8. Let $\phi: g \to g'$ be a homomorphism of Lie rings. Suppose that $H_1(\phi)$ is an isomorphism and that $H_2(\phi)$ is an epimorphism. Then

(i) ϕ induces an isomorphism

$$\frac{\mathcal{G}}{[\operatorname{\mathsf{Ker}}\phi,g]\,\Gamma^{(i)}(g)} \xrightarrow{\cong} \frac{\mathcal{G}'}{\Gamma^{(i)}(g')}, \quad i \ge 1;$$

(ii) if both g and g' are solvable Lie rings, then ϕ induces an isomorphism

$$\frac{\mathcal{G}}{[\operatorname{\mathsf{Ker}}\phi,g]} \xrightarrow{\cong} g'.$$

 $Moreover, \ [\mathsf{Ker} \ \phi, g] = [[\mathsf{Ker} \ \phi, g], g] = [[[\mathsf{Ker} \ \phi, g], g] = \cdots.$

Proof. This follows from Theorem 5.6 because $H_2(g) \cong HS_2^{mlr}(g)$ (see [1]).

Acknowledgments

We thank the referee for the helpful comments and suggestions which made the paper more enhanced.

The authors were supported by Agencia Estatal de Investigación (Spain), grant MTM2016-79661-P (European FEDER support included, UE). The first author was also partially supported by visiting program (USC). The second author was also supported by Shota Rustaveli National Science Foundation, grant FR/189/5-113/14. The third author was also supported by Xunta de Galicia (European FEDER support included), grant GRC2013-045.

References

- A. Bak, G. Donadze, N. Inassaridze, M. Ladra, Homology of multiplicative Lie rings, J. Pure Appl. Algebra 208 (2) (2007) 761–777.
- [2] R. Brown, J.-L. Loday, Van Kampen theorems for diagrams of spaces, Topology 26 (3) (1987) 311–335, with an appendix by M. Zisman.
- [3] T. Cochran, S. Harvey, Homology and derived series of groups, Geom. Topol. 9 (2005) 2159– 2191.
- [4] T. Cochran, S. Harvey, Homology and derived p-series of groups, J. Lond. Math. Soc. (2) 78 (3) (2008) 677–692.
- [5] T. D. Cochran, S. Harvey, Homology and derived series of groups. II. Dwyer's theorem, Geom. Topol. 12 (1) (2008) 199–232.
- [6] T. D. Cochran, S. Harvey, Homological stability of series of groups, Pacific J. Math. 246 (1) (2010) 31–47.
- [7] G. Donadze, N. Inassaridze, M. Ladra, Non-abelian tensor and exterior products of multiplicative Lie rings, Forum Math. 29 (3) (2017) 563–574.
- [8] G. Donadze, M. Ladra, More on five commutator identities, J. Homotopy Relat. Struct. 2 (1) (2007) 45–55.
- [9] W. G. Dwyer, Homology, Massey products and maps between groups, J. Pure Appl. Algebra 6 (2) (1975) 177–190.
- [10] G. J. Ellis, Non-abelian exterior products of Lie algebras and an exact sequence in the homology of Lie algebras, J. Pure Appl. Algebra 46 (2-3) (1987) 111–115.

- [11] G. J. Ellis, A non-abelian tensor product of Lie algebras, Glasgow Math. J. 33 (1) (1991) 101–120.
- [12] G. J. Ellis, On five well-known commutator identities, J. Austral. Math. Soc. Ser. A 54 (1) (1993) 1–19.
- [13] P. J. Hilton, U. Stammbach, A course in homological algebra, vol. 4 of Graduate Texts in Mathematics, 2nd ed., Springer-Verlag, New York, 1997.
- [14] H. Inassaridze, Non-abelian homological algebra and its applications, vol. 421 of Mathematics and its Applications, Kluwer Academic Publishers, Dordrecht, 1997.
- [15] C. Kassel, J.-L. Loday, Extensions centrales d'algèbres de Lie, Ann. Inst. Fourier (Grenoble) 32 (4) (1982) 119–142 (1983).
- [16] F. Point, P. Wantiez, Nilpotency criteria for multiplicative Lie algebras, J. Pure Appl. Algebra 111 (1-3) (1996) 229–243.
- [17] A. R. Salemkar, H. Tavallaee, H. Mohammadzadeh, B. Edalatzadeh, On the non-abelian tensor product of Lie algebras, Linear Multilinear Algebra 58 (3-4) (2010) 333–341.
- [18] J. Stallings, Homology and central series of groups, J. Algebra 2 (1965) 170–181.
- [19] M. P. Visscher, On the nilpotency class and solvability length of nonabelian tensor products of groups, Arch. Math. (Basel) 73 (3) (1999) 161–171.